Haa gl Ak HE %
— — @ Eif 1 SGCC =1 2 $MASBE (hw TS —)LBEY « 5 1—)
% & N E ®
! 2 C t=12 piksmsE
N 0Ll b ~55ki% +0.2UF Ui St
5ELE ~305K £0. 351 @ = 2 SGCC 1=1 2 MBS
3051k ~ 10053 +0. 5T @ iR 1 SG0C t=1 0 ipAcmaE
N
100 ~5005k % +0. TLF ©) Ya—+ 2 SGCC t=1 2 $piksmsE
500LL £ +1.0UF ® ELHEE 9 SGOC t=12 ¥hksps
KRR FAZEN, LRAZ-#X)L @ SYFRSAE (SyFLn—) . SGCC t=1.6 A=A OAwHk
SYyFHIN— 1 SGCC t=1.6 a1=4/Otvx
©@ SyFmEE 1 SGCC t=2.0 #MAZEHE
@® ) 1 RYTAELY (BE100%) 60L
@ ACAF EEN 2 SGCC t=1.2 ¥MAZEE
v
=490

440+1 / \

1090=+3

420 1‘
. D N
o ¥
300
\ J
th % %
* @ - i |
-
Ha4
VAVYES
HE4
i - TR
R 48 B ita
[ N T 171
—J — — HE R kR
5304 1 = 2008.10.6
SVYPE) ILEE s =it




